Matula, Guy

Mr. Guy Matula Fort Bend County Engineering 301 Jackson St. Richmond, TX 77469

Digitally signed by Matula, Guy DN: dc=us, dc=tx, dc=fort-bend, dc=co, dc=fortbend, ou=Fortbend, ou=Departments, ou=Engineering, ou=Users, cn=Matula, Guy

Date: 2022.04.14 12:54:34 -05'00'

REC 621089 PERCHERON

AGENDA

April 14, 2022

Project #'s Invoice #'s

Due Date

PO#

2017 Mobility 0330851 0330852 0330853

PO 167428

DMS

May 28, 2022 167428

Combined Invoice Total

\$5,344.89

Professional Services Period: March 1, 2022 to March 31,2022

Percheron #	FBC Project #	2017 Mobility Project Name	Current Invoice Amount
05.004808.0000	17313x	McCrary Road - PO 167428/2017	\$3,408.75
05.005439.0000	17303	SH 99 - PO 167428/2017	\$1,801.14
05.000520.0000	17314X	Cinco Ranch TL Road PO 167428/2017	\$ 0.00
05.005816.0000	17307	Peek Road PO 167428/2017	\$ 0.00
05.006710.0000	17325x	Hunt Road PO 167428/2017	\$0.00
05.006831.0000	17320x	Fry Rd Donation PO 167428/2017	\$135.00
		Total Current Invoice	\$ 5,344.89

Billing Limits	Current	Prior Outstanding Invoices	To Date
Total Billings	\$ 5,344.89	\$5749.94	(\$347,504.85)
Total Contract Amount			\$448,245.00
Remaining Funds Available			\$100,740.15

Project	Current Invoice	Prior Outstanding Invoices	Total Invoiced to Date
17313x McCrary	\$3,408.75	\$3,697.50	\$223,028.80
17303 SH 99	\$1,801.14	\$ 1,693,65	\$71,020.92
17314x CRTL	\$ 0.00	\$ 0.00	\$28,398.16
17307 Peek	\$	\$ 201.20	\$11,896.29
17325x Hunt Road	\$0.00	\$ 201.29 \$ 0.00	\$9,419.56
17320x Fry	\$ 135.00	\$ 157.50	\$3,741.12
Totals	\$5,344.89	\$5,749.94	\$347,504.85



April 13, 2022

Project No:

05.004808.0000

Invoice No:

0330851

Due Date:

May 28, 2022

PO / WO / AFE:

167428

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$3,408.75

Project

05.004808.0000

Project# 17313X - McCrary Road PO: 167428/2017 Mobility

Professional Services from March 1, 2022 to March 31, 2022

Professional Personnel

	Quantity	Rate	Amount
Project Manager Kaplan, Arlene	17.25	90.00	1,552.50
ROW Agent Senior Cavazos, Jorge	10.75	75.00	806.25
Garza, Juan	5.0	75.00	375.00
Miller, Rhia	9.0	75.00	675.00

Total Labor 3,408.75

Billing Limits	Current	Prior	To-Date
Total Billings	3,408.75	219,620.05	223,028.80
Total Contract Amount			265,150.00
Remaining Funds Available			42,121.20

Total this Invoice

\$3,408.75

Outstanding Invoices

Number	Date	Balance
0327226	1/13/2022	3,296.25
Total		3,296.25

Billings to Date

	Current Invoice	Prior	Invoiced To Date
Labor	3,408.75	141,598.75	145,007.50
Appraisers	0.00	72,000.00	72,000.00
Expense	0.00	4,221.30	4,221.30
Unit	0.00	1,800.00	1,800.00
Totals	3,408.75	219,620.05	223,028.80

FBC - Proj#17313x - McCrary Rd PO167428 Invoice 0330851

Project

05.004808.0000

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd PO16		.02 - Produ	uction and	Procureme	nt 100.00	0 - Project	Manageme	ent				
Kaplan, Arlene	14.250	1,282.50													1,282.5
Total 100.000:	14.250	1,282.50													1,282.5
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd PO16	7428 0000	.02 - Produ	uction and	Procureme	ent 101.00	0 - Project	Support					
Miller, Rhia	9.000	675.00													675.0
Garza, Juan	5.000	375.00													375.0
Total 101.000:	14.000	1,050.00													1,050.0
Total 0000.02:	28.250	2,332.50							-30.						2,332.5
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd PO16	7428 0001	.02 - Parce	P01-E Pr	oduction ar	nd Procure	ment 100	.000 - Proje	ct Manager	nent			
Kaplan, Arlene	1.750	157.50													157.5
Total 100.000:	1.750	157.50													157.5
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd P016	7428 0001	.02 - Parce	P01-E Pr	oduction ar	nd Procure	ment 150	.000 - Acqu	isitions				
Cavazos, Jorge	5.750	431.25													431.2
Total 150.000:	5.750	431.25													431.2
Total 0001.02:	7.500	588.75			4									S-M-10-M-18HV	588.7
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd P016	7428 0002	.02 - Parce	P02-E Pr	oduction ar	nd Procure	ment 100	.000 - Proje	ct Manager	nent			
Kaplan, Arlene	1.250	112.50													112.5
Total 100.000:	1.250	112.50													112.5
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd P016	7428 0002	.02 - Parce	I P02-E Pr	oduction ar	nd Procure	ment 150.	.000 - Acqu	isitions				
Cavazos, Jorge	3.750	281.25													281.2
Total 150.000:	3.750	281.25													281.2
Total 0002.02:	5.000	393.75	-												393.7
05.004808.0000 - FBC - F	Proj#17313x	- McCrary	Rd P0167	7428 0005	.02 - Parce	I P05-E Pr	oduction ar	nd Procure	ment 150.	.000 - Acqu	isitions				
Cavazos, Jorge	1.250	93.75													93.7
Total 150.000:	1.250	93.75													93.7
Total 0005.02:	1.250	93.75		501				-							93.7
Total 05.004808.0000:	42.000	3,408.75													3,408.7

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Miller, Rhia								ARCE CALCULATION								
3/29/2022	2.000	75.00	150.00													150.0
Work Detail 3/30/2022	Audited file	s in prepar 75.00	ation for d		FBC.											300.0
Work Detail 3/31/2022	Audited file	s in prepar	ration for d		BC.											225.0
Work Detail	Audited file				FBC.											220.0
Total Miller, Rhia:	9.000		675.00											e e e e e e e e e e e e e e e e e e e		675.0
Garza, Juan							-									
3/25/2022		75.00	150.00													150.0
Work Detail 3/28/2022		75.00	225.00		Request fro	m Fort Bend	Construct	on.								225.0
Work Detail		ject ready		uction. Clo	sed out Pro	ject Comple	te.						-			
Total Garza, Juan:	5.000		375.00													375.0
Cavazos, Jorg	je															
3/3/2022	2.500	75.00	187.50													187.5
Work Detail 3/4/2022	Picked up 6		ocuments. 187.50													187.5
Work Detail	Created an	d Uploade	d payment	package a	and update	d drives.										
Work Detail	Status Che	ck on Part	al Release	of Lien.												18.7
3/17/2022 Work Detail	.250 Update MV	75.00 V documer	18.75 ts.													18.7
3/23/2022 Work Detail	.250 Status Upd	75.00	18.75													18.7
3/1/2022	1.500	75.00	112.50													112.5
Work Detail 3/4/2022	Summited 1.250		93.75	review.												93.7
Work Detail 3/9/2022	Uploaded p	ayment pa	ckage and	d updated	drives.											37.5
Work Detail	Status Che	ck on Part	al Release	of Lien. F	Review ema	il for bridge	request.									
3/17/2022 Work Detail	.250 Update MV	75.00 V documen	18.75 ts.													18.7
3/23/2022 Work Detail	.250 Status Upd	75.00 ate with Pl	18.75 M													18.7
3/9/2022	.500	75.00	37.50													37.5
Work Detail 3/17/2022	Status Che .500	75.00	al Release	of Lien.												37.5
Work Detail 3/23/2022	Update MV	documen 75.00	ts. 18.75													18.7
Work Detail	Status Upd															
Total Cavazos Jorge:	, 10.750		806.25										*************	77152 132 13		806.2
Kaplan, Arlen	e															
3/3/2022 Work Detail	1.250 Undated re		112.50	s dollars	etc. All parc	els accepte	d and work	ing on paym	ent nackan	es and requ	ests					112.5
3/7/2022	1.250	90.00	112.50													112.5
Work Detail 3/8/2022			eeting; wra 157.50	apping up		k; checking f				W; sent to te	eams for m	eeting.				157.5
Work Detail 3/9/2022		ng with Gu 90.00	y and Perc	heron tear		cost propos						nt per Guy.				112.5
SISIZUZZ	Request to		112.00													

Project	05.	00480	0000.8	F	BC - P	roj#173	13x - N	/IcCra r	y Rd P	01674	28	In	voice	03	30851	
						Billing Peri	od from M	arch 01, 2	022 to Marc	h 31, 2022						
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene)													The state of the s		
3/14/2022	1.500	90.00	135.00													135.0
Work Detail	Reviewed	Mobility "	17 invoices													
3/17/2022	1.250	90.00	112.50													112.5
Work Detail	Working in	n MW uplo	ading docum	ents; isola	ating issues	and concern	ns for meet	ing next we	ek with FB0							
3/24/2022	1.500	90.00	135.00													135.0
Work Detail	Started re	view of pa	rcels docume	ents and p	reparing for	thumb drive	to FBC. Ju	ust waiting	to close all	parcels.						
3/25/2022	.500	90.00	45.00													45.00
Work Detail	Prepared	FedEx for	McCrary Dra	inage par	cels 03E, 04	4E, and 05E	documents	from FBC	to me and s	ent it to Bri	tten.					
3/28/2022	1.000	90.00	90.00													90.00
Work Detail	Assigned	Rhia and	Juan to reviev	w digital fil	es and prep	pare for thun	nb drive for	projects no	ot in MW for	FBC.						
3/31/2022	3.000	90.00	270.00													270.0
Work Detail	FBC Meet	ting														
3/4/2022	1.000	90.00	90.00													90.00
Work Detail	Review ar	nd prep of	payment pac	kage from	Jorge for o	losing thia p	arcel.									
3/9/2022	.750	90.00	67.50													67.50
Work Detail	Contacted	property	owner and th	en provide	ed Mark with	n information	and conta	ct numbers	for this pro	perty owner	to meet wi	th and align	exact locat	ion of cattle o	crossing.	
3/4/2022	1.250	90.00	112.50													112.50
Work Detail	Review ar	nd prep for	submittal pa	yment pad	ckage to clo	se parcel.										
Total Kaplan, Arlene:	17.250		1,552.50		0 -											1,552.5
Invoice Total	42.000		3,408.75													3,408.7



April 13, 2022

Project No:

05.005439.0000

Invoice No: Due Date:

0330852 May 28, 2022

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$1,801.14

05.005439.0000

Project# 17303 - SH 99

Professional Services from March 1, 2022 to March 31, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager Kaplan, Arlene	11.25	90.00	1,012.50	
ROW Agent Senior				
Cavazos, Jorge	9.75	75.00	731.25	
Miller, Rhia	0.5	75.00	37.50	
Total Labor				1,781.25
Reimbursable Expenses				
Mileage			19.89	
Total Reimbursables			19.89	19.89

Billing Limits	Current	Prior	To-Date
Total Billings	1,801.14	69,219.78	71,020.92
Total Contract Amount			110,100.00
Remaining Funds Available			39,079.08

39,079.08

Total this Invoice

\$1,801.14

19.89

Outstanding Invoices

Number	Date	Balance
0327227	1/13/2022	690.00
Total		690.00

Billings to Date

	Current Invoice	Prior	Invoiced To Date
Labor	1,781.25	62,703.75	64,485.00
Appraisers	0.00	5,870.00	5,870.00
Expense	19.89	646.03	665.92
Totals	1,801.14	69,219.78	71,020.92

Project 05.005439.0000 FBC - Project# 17303 - SH 99 Invoice 0330852

Project 05.005439.0000 FBC - Project# 17303 - SH 99 Invoice 0330852

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.005439.0000 - FBC -	Project# 17	303 - SH 99	0000.02	- Production	n and Prod	urement	100.000 -	Project Mar	nagement						
Kaplan, Arlene	11.250	1,012.50	34.00	19.89										19.89	1,032.39
Total 100.000:	11.250	1,012.50	34.00	19.89										19.89	1,032.39
05.005439.0000 - FBC -	Project# 17	303 - SH 99	0000.02	- Productio	n and Proc	urement	150.000 -	Acquisition	s						
Miller, Rhia	.500	37.50													37.50
Cavazos, Jorge	9.750	731.25													731.25
Total 150.000:	10.250	768.75													768.75
Total 0000.02:	21.500	1,781.25	34.00	19.89										19.89	1,801.14
Total 05.005439.0000:	21.500	1,781.25	34.00	19.89						-				19.89	1,801.14
Invoice Total:	21.500	1,781.25	34.00	19.89										19.89	1,801.14

PERCHERON INVOICE DETAIL

	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Miller, Rhia	III.						(4)							***************************************		
3/17/2022	.250	75.00	18.75													18.7
Work Detail	P205 - Re	eviewed de	ed.													
3/30/2022	.250	75.00	18.75													18.7
Work Detail	P207 - Re	eviewed an	nended count	teroffer pa	ckage for s	ubmittal to F	BC.									
Total Miller, Rhia:	.500		37.50													37.5
Cavazos, Jorge																
3/2/2022	3.500	75.00	262.50													262.5
Work Detail	P205 - Re	equested T	itle UpdateP2	207 - Upda	ated Log an	d checked st	tatus of app	oroval docu	mentsTeam	n Meeting						
3/9/2022	.250	75.00	18.75													18.7
Work Detail	P207- Sta	tus Check	on executed	documen	ts.											
3/16/2022	1.500	75.00	112.50													112.5
Work Detail	P203, P2	05, P207-	Donation De	ed status	Update and	Update Log	s - Meeting	with PM								
3/18/2022	1.000	75.00	75.00													75.0
Work Detail	P203, P2	05, P207 L	Jpdate Logs													
3/23/2022	.500	75.00	37.50													37.5
Work Detail	Status Up	date with F	PM on Parcel	s 203 and	205 and 20	7										
3/25/2022	.500	75.00	37.50													37.5
3/31/2022		75.00	ch out to P20 187.50											-		
Work Detail			arcel Status	Updates												187.5
Work Detail Total Cavazos,				Updates												
Work Detail Total Cavazos, Jorge:	MW - Mee		arcel Status	Updates												
Work Detail Total Cavazos, Jorge: Kaplan, Arlene	9.750	eting and P	Parcel Status 731.25	Updates												731.2
Work Detail Total Cavazos, Jorge: Kaplan, Arlene	9.750 9.500	eting and P	731.25 45.00			e needed me	e to look ov	er schemat	c for remai	nder of 99 a	nd comme	nt where I sa	aw oroblem	s challengees	s issues etc	731.2 :
Work Detail Total Cavazos, Jorge: Kaplan, Arlene	9.750 9.750 .500 Updated r	90.00 eport and the	Parcel Status 731.25	Joe Sche	eiterman. He	e needed me	to look ov	er schemat	c for remai	nder of 99 a	nd comme	nt where I sa	aw problem:	s, challenges	s, issues, etc.	731.2 45.0 Reviewed
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail	9.750 .500 Updated r and called	90.00 eport and to Joe back	731.25 45.00 took call from for discussio	Joe Sche								nt where I sa	aw problem:	s, challenges	s, issues, etc.	731.2: 45.00 Reviewed
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022	9.750 .500 Updated r and called	90.00 eport and f Joe back 90.00 title policie	731.25 45.00 took call from for discussio 67.50	Joe Sche								nt where I sa	aw problem:	s, challenges	s, issues, etc.	731.2 45.0 Reviewed
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail	9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff	90.00 eport and to Joe back 90.00 tittle policie 90.00 fith P205 refer not include	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edits dding construi	for P202 :	and 204; sc	anned & uplo	paded; Add	led to prepa	ared project	t files for FB	c					731.2 45.0 Reviewed 67.5 202.5 about
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022	9.750 .500 Updated r and called .750 Received 2.250 Worked w	90.00 eport and to Joe back 90.00 title policie 90.00 ith P205 re	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edits	for P202 :	and 204; sc	anned & uplo	paded; Add	led to prepa	ared project	t files for FB	c					731.2 45.0 Reviewed 67.5 202.5 about
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/12/2022 Work Detail	9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed	90.00 eport and for the policie 90.00 ith P205 refer not include 90.00 d project st.	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edits uding constru 90.00 atus with teal	for P202 s	and 204; sc nents. Once lests. Sent r	anned & uplo	n, sent to F	led to prepa	ared project	t files for FB	c					731.2 45.0 Reviewed 67.5 202.5 about
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/16/2022	9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed	90.00 eport and I Joe back 90.00 title policie 90.00 ith P205 reer not inclu	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edits uding constru	for P202 s	and 204; sc nents. Once lests. Sent r	anned & uplo	n, sent to F	led to prepa	ared project	t files for FB	c					731.2 45.0 Reviewed 67.5 202.5 about
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/21/2022 Work Detail 3/21/2022 Work Detail 3/24/2022 Work Detail	9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed 2.000 Starting in	90.00 eport and I Joe back 90.00 title policie 90.00 ith P205 reer not inclu 90.00 d project st. 90.00	45.00 took call from for discussio 67.50 as and deeds 202.50 egarding edits uding constru 90.00 atus with tear 180.00 o review all fi	for P202 :	and 204; sc nents. Once lests. Sent r	anned & uplo agreed upo esponse and down last 3	n, sent to F d copied Er parcels.	led to prepa BC Legal fi	ared project	t files for FB	c					731.2 45.0 Reviewed 67.5 202.5 about 90.0
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/21/2022 Work Detail 3/24/2022 Work Detail 3/24/2022 Work Detail 3/24/2022	9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed 2.000 Starting in 1.500	90.00 eport and fl doe back 90.00 title policie 90.00 ith P205 refer not include policie 90.00 d project st. 90.00	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edits ading constru 90.00 atus with tear 180.00 or review all fi 135.00	for P202 : s to documiction require; take structure and al	and 204; sc nents. Once ests. Sent r	agreed upo esponse and down last 3	n, sent to F d copied Er parcels.	BC Legal fing g and leg	or final app	t files for FB	C ed on P207	with attorne	ey Tom Pick	oford. Respo	nded to email	731.2 45.0 Reviewed 67.5 202.5 about 90.0
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/21/2022 Work Detail 3/21/2022 Work Detail 3/24/2022 Work Detail	9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed 2.000 Starting in 1.500 Responder	90.00 eport and I Joe back 90.00 title policie 90.00 ith P205 refer not inclu 90.00 d project st. 90.00 d to reque	45.00 took call from for discussio 67.50 as and deeds 202.50 egarding edits uding constru 90.00 atus with tear 180.00 o review all fi	for P202 : s to documiction requirem; take strictles and all	and 204; sc nents. Once lests. Sent r apps to wind ign docume	agreed upo esponse and down last 3	n, sent to F d copied Er parcels.	BC Legal fing g and leg	or final app	t files for FB	C ed on P207	with attorne	ey Tom Pick	oford. Respo	nded to email	731.2 45.0 Reviewed 67.5 202.5 about 90.0 180.0
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/21/2022 Work Detail 3/24/2022 Work Detail 3/29/2022 Work Detail	MW - Mee 9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed 2.000 Starting in 1.500 Responder me of doc 3.250 Received	90.00 eport and to be back 90.00 title policie 90.00 ith P205 refer not includer not include 100.00 d project st. 90.00 d to reque so enroute for 90.00 P205 deec	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edituding construing 90.00 atus with team 180.00 or review all fit 135.00 or closing; re 292.50 d and other discontinuing and the discontinuity of the control of	for P202 as to documentation requirements and all inners registered inners registere	nents. Once ests. Sent r eps to wind ign docume arding surve to email.	agreed upo esponse and down last 3 nts for thumi	n, sent to F d copied Er parcels.	BC Legal for gig and leg	or final app pal.	roval. Works	C ed on P207	with attorne	ey Tom Pick	FBC; receive	nded to email	731.2 45.0 Reviewed 67.5 202.5 about 90.0 180.0 135.0 il advising
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/21/2022 Work Detail 3/24/2022 Work Detail 3/29/2022 Work Detail 3/39/2022 Work Detail	MW - Mee 9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed 2.000 Starting in 1.500 Responder me of doc 3.250 Received	90.00 eport and to Joe back 90.00 tittle policie 90.00 d project st. 90.00 d project st. 90.00 ed to reque s enroute f 90.00	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edituding construing 90.00 atus with team 180.00 or review all fit 135.00 or closing; re 292.50 d and other discontinuing and the discontinuity of the control of	for P202 : s to documents m; take strineers regesponded ocuments	nents. Once ests. Sent r eps to wind ign docume arding surve to email.	agreed upo esponse and down last 3 nts for thumi	n, sent to F d copied Er parcels.	BC Legal for gig and leg	or final app pal.	roval. Works	C ed on P207	with attorne	ey Tom Pick	FBC; receive	nded to email	731.2: 45.00 Reviewed 67.50 202.50 about 90.00 180.00 135.00 135.00 292.50 d sent to
Work Detail Total Cavazos, Jorge: Kaplan, Arlene 3/1/2022 Work Detail 3/11/2022 Work Detail 3/16/2022 Work Detail 3/21/2022 Work Detail 3/24/2022 Work Detail 3/29/2022 Work Detail 3/29/2022 Work Detail 3/30/2022	MW - Mee 9.750 .500 Updated r and called .750 Received 2.250 Worked w counteroff 1.000 Discussed 2.000 Starting in 1.500 Responder me of doc 3.250 Received	90.00 eport and to be back 90.00 title policie 90.00 ith P205 refer not includer not include 100.00 d project st. 90.00 d to reque so enroute for 90.00 P205 deec	45.00 took call from for discussio 67.50 as and deeds 202.50 agarding edituding construing 90.00 atus with team 180.00 or review all fit 135.00 or closing; re 292.50 d and other discontinuing and the discontinuity of the control of	for P202 as to documentation requirements and all inners registered inners registere	nents. Once ests. Sent r eps to wind ign docume arding surve to email.	agreed upo esponse and down last 3 nts for thuml eys and acqu	n, sent to F d copied Er parcels.	BC Legal for gig and leg	or final app pal.	roval. Works	C ed on P207	with attorne	ey Tom Pick	FBC; receive	nded to email	67.50 202.50 about 90.00 180.00 135.00 il advising



April 13, 2022

Project No:

05.006831.0000

Invoice No: Due Date:

May 28, 2022

0330853

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$135.00

Project

05.006831.0000

Project# 17320x - Fry Rd Donation PO: 167428/2017 Mobility

Professional Services from March 1, 2022 to March 31, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	1.5	90.00	135.00	
Total Labor				135.00
Billing Limits	Current	Prior	To-Date	
Total Billings	135.00	3,606.12	3,741.12	
Total Contract Amount			5,000.00	
Remaining Funds Available			1,258.88	
		Total this I	nvoice	\$135.00

Outstanding Invoices

Number	mber Date			
0327229	1/13/2022	450.00		
Total		450.00		

Billings to Date

	Current	Prior	Invoiced To
	Invoice		Date
Labor	135.00	3,543.75	3,678.75
Expense	0.00	62.37	62.37
Totals	135.00	3,606.12	3,741.12

Project 05.006831.0000

FBC - 17320x - Fry Rd Donation PO: 16

Invoice

0330853

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.006831.0000 - FBC -	17320x - Fr	y Rd Donatio	on PO: 16	0000.02 -	Production	and Proc	urement	100.000 - Pr	oject Mana	agement					
Kaplan, Arlene	1.500	135.00													135.00
Total 100.000:	1.500	135.00													135.00
Total 0000.02:	1.500	135.00													135.00
Total 05.006831.0000:	1.500	135.00										(135.00
Invoice Total:	1.500	135.00													135.00

Project 05.006831.0000 FBC - 17320x - Fry Rd Donation PO: 16 Invoice 0330853

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene			1			112								du de la composición		
3/14/2022	1.500	90.00	135.00													135.0
Work Detail	File compl	ete. Prepa	red docs and	d thumb d	rive to delive	er to FBC on	3/22/22									
Total Kaplan, Arlene:	1.500		135.00											duite —	ÿ	135.0
Invoice Total	1.500		135.00													135.0